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1
N y=575{-3<x<3}
2
N x=-3{4<y<5.75}
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x=3{4<y<5.75}
y=4{-3<x<-15}
y=4{15<x<3}
x=15{4<y<45}
x=—15{4<y<45}
y=45{-15<x<—1}
y=45{1<x<15}
x=-1{3.75<y<45}
x=1{3.75<y<4.5}
y=3.75{-225<x<-1}
y=375{1<x<225}
x=-225{3<y<3.75}
x=225{3<y<3.75}
y=3.75{-225<x<225}
y=3{-225<x<-1.75}
y=3{1.75<x<2.25}
x=1.75{3<y<3.25}
x=-175{3<y<3.25}
y=325{-1.75<x<—.5}
y=325{5<x<1.75}
x=—-5{-5<y<3.25}

x=5{-5<y<325}
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y=—5{-1<x<-.5}
y=—5{5<x<1}
x=-1{-1<y<-.5}
x=1{-1<y<-5}
y=-1{-1<x<1}
x=—-1{0<y<3.25}
x=1{0<y<3.25}
y=0{-15<x<—-1}
y=0{1<x<1.5}
x=-15{-1.5<y<0}
x=15{-15<y<0}

y=-15{-15<x<15}
y=3x+55{-3<x< -2}

x=-2{45<y<525}

y=525{-2<x<2.1}

1
y= 1'29x+5.25 {-1<x<0}
_ 1
y=1mpx+405 {2.056<x<3}

x=2{45<y<5.25}
x=0{-75<y<5.25}
1.3

y=—="x+2.6 {1456 <x<2}
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y=~tx+25 {15 <x<2}

y=Tx+525 {-2.25 <x< -2}

x=-2{325<y<35}
y=35{-2 <x<2}

y=5x+35{-5<x<0}

y=Tx+15{2<x<2.25}

y=1x+15 {175 <x<2}
x=2{3.25<y<3.5}
y=1x+1.25 {175 <x<2}

y:%x—i-—l {H<x<1}

y=Tx+-15{l<x<15})

y=—75{-5<x<.5}

y:%x—k—l {H<x<1}

1

y=gx+-75 {0<x< .5}

y= %x+—.5 {-1<x<-5}

1 .
y= TO5X+ —.07 {—1.43 <x<—-.9
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